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20195t & H|SF A Xp=004hM

H

serpsm EOEE]
S22 5,060,525 3,820,447 1,240,078 |QI7dH| 5,957,385 5,930,558 26,827
Folaly| s Lol 21,821,870 22,449,365 -627,495 |ma|2gH| 4,938,530 6,233,851 -1,295,321
=N ] 4,853,041 4,770,125 82,916 |HT.sHMZH| 22,122,723 19,100,425 3,022,298
mE=X-1EX] 591,810 376,812 214,998 |@2SQH|R 157,342 175,855 -18,513
EXI9}7|EFRFA 49 5,028,047 16,157,631 -11,129,584 |®M&3
DHXHA 0§ 2449 4,000 2,000 2,000 ||| 330,000 36,322 293,678
SEEM U2 EX}Q}7|EFXIAF X| & 2,598,164 2,335,812 262,352
NSRRI 6,085,400 52,000 6,033,400 |THXIAONQ! X| = 7,812,900 13,775,220 -5,962,320
SE8M ¥
DY A 85,400 85,400
A 43,444,693 47,628,380 -4,183,687 || 44,002,444 47,673,443 -3,670,999
OjAFR M 7|0| Y 560,662 605,725 -45063 |O]AM2X}7]|0| ¥ 2,911 560,662 -557,751
U7 44,005,355 48,234,105 -4,228,750 |X|ZA| 44,005,355 48,234,105 -4,228,750
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¢ (B9l
= 20193|A| ¢ & 20183 A Y = =3t Asa
= et 5 =0l A =304
SEZ 5,060,525,000 3,820,447,000 1,240,078,000
st sta -
e ysts -
Bl = -
oiste+=g= -
5,060,525,000 3,820,447,000 1,240,078,000
E=d R 5,060,525,000 3,820,447,000 1,240,078,000 |&txSE 7,280,000
A= 20,950,000
ey e 3,200,000,000
HMTS9 365,490,000
X2 SHME 887,715,000
= 2lo{210|¥o| 268,890,000
ZMHE2] 38,200,000
BRI s 240,000,000
TIE Program 28,000,000
7|Et 4,000,000
21,821,870,000 22,449,365,000 |- 627,495,000
Helz+2 2,010,800,000 3,031,383,000 |- 1,020,583,000
dgHMY = 25,000,000 25,135,000 |- 135,000 |ZAH|IEH AL 25,000,000
HAY SN 1,985,800,000 2,036,248,000 |- 50,448,000 |mAAtstia et 1,135,800,000
PESTPNR-TY e =R = = 850,000,000
NN -
SEIATY S -
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eS| (Bt
= 20193| A H = 20183| A A = =2 s
B 3 el e 04
nUEAF -
sESANYES 970,000,000 |- 970,000,000
2,500,000,000 1,550,000,000 950,000,000
LT &= 600,000,000 315,000,000 285,000,000 |71 A 350,000,000
chy 9 7| 30,000,000
JHel 220,000,000
=22 1,900,000,000 1,235,000,000 7| 210,000,000
ERA| S 72 720,000,000
4ol 970,000,000
17,301,070,000 17,792,306,000 |-
15,620,530,000 15,966,872,000 |- ZpEstE ful 12,000,000,000
ZOLAEE 93 2 1,700,000,000
2IpEEE o2 30,000,000
ZIpESHE O 2 A 70,000,000
=71Ee s oA sA 18,000,000
FIAFEHE S (A Z AL A) 80,000,000
2otz arst 1,100,000,000
Yo =20|X A= 2,000,000
CHEHA A Al St 2,400,000
S| YAt et 50,000,000
Qlstazi=rex| 260,130,000
THEEAFCHE| AR 308,000,000
749,020,000 518,737,000 CHet AR E X AAHY 100,000,000
Aty stm 20193tA T HIS S FE|AH X0l &hA
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eS| (CHel3
= 20193| A|H 20183 HAH o
B 3 g Eojl At FZ0A °-
CHSHE XY S E AL K| ALY 61,820,000
ISt AEDS K| QAALY 40,000,000
HURAHEZ2 20,000,000
HS e 70,000,000
SotEmArst 16,000,000
K-moveA = X| A+ 331,200,000
LA Z A EEELS 100,000,000
=1 7|EfEE 10,000,000
931,520,000 1,306,697,000 |- 375,177,000 |=Qojzlo|gojpm 277,200,000
L RIOjZIo| St A = 32,760,000
ME3|YHE 220,000,000
K| KFR| &bt 19,000,000
MERL A ALY 6,000,000
et A7 oA B Y 301,560,000
CHSH AR} 2| ME| K| ALY 25,000,000
drlEeloyst 50,000,000
10,000,000 75,676,000 65,676,000
AtstsiEntEela 10,000,000 75,676,000 65,676,000 [Arete HEtT S 10,000,000
Stu7|Au s -
mE=Ru BNl 4,853,041,000 4,770,125,000 82,916,000
1,116,720,000 1,105,020,000 11,700,000
|‘o_'||- _
= 1,116,720,000 1,105,020,000 11,700,000 |&ts 1,097,300,000
oIty aHY 15,400,000
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20193H4 = B S =3

29l (Erele
] = 20193 A & 20183 A
Aoyt 600,000
olAZIS TSR 1,020,000
Alstostel 2,400,000
zgAga4Y 639,596,000 663,341,000 |- 23,745,000
zyz 13,456,000 15,400,000 |- 1,944,000 |23 5BAM 23 13,456,000
tol2 & AtRZE 626,140,000 647,941,000 |- 21,801,000 |Fxt= 209,954,000
HSEeHE AHgE 41,440,000
AR R 125,410,000
Az 191,496,000
KA E 13,000,000
7|Ef 44,840,000
& 3,096,725,000 3,001,764,000
57,850,000 30,200,000 eyl 25,000,000
QI AMZES L B 1,250,000
Alstostel 1,600,000
&4 1,000,000 1,000,000 YSLEUK? HErY 1,000,000
20l 3,037,875,000 2,970,564,000 DS B 1,561,500,000
ME DS TAI AlH| 863,000,000
R QAICE AlH| 199,000,000
HEE22HE (X7 018) 91,900,000
SOl TH| o 112,000,000
ot dRdE 50,100,000
IR ImE=2=1=SN ] 69,200,000
XSSt |N T2 3,000,000

3| A RbZ 0l £hA




20198t HISE23|A X2 0AHN

2o (EFS): 2
i 5 3| A A oA A
= } g = 2019520:;1 - ZO:ZI:II{‘JE sd SE=

MVP+ZH = 21,600,000

H2og Ay 8,000,000

M2 8ot 232 8,000,000

MIO|5A7|043 25,000,000

Cfsrel oIRolAlE 9 FEAIH 10,575,000

7|Ep 29l 15,000,000
mE=XeIPN-] 591,810,000 376,812,000 214,998,000
Ol 20[Rt4=¢ 525,000,000 324,662,000 200,338,000

525,000,000 324,662,000 200,338,000 |oiZ 0%t 525,000,000
J|EtR 894 66,810,000 52,150,000 14,660,000

SR 66,810,000 52,150,000 14,660,000 |49 66,810,000
EXFOF7|EFRFAF 29 5,028,047,000 16,157,631,000 |- 11,129,584,000

>
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¢ (B9l
20193|A| ¢ & 20183|A| ¢ & =z man
= = =0f| & =304
5,028,047,000 16,157,631,000 |- 11,129,584,000
doldATT|gelE -
Ao|AZY| 2= 456,000,000 11,126,000,000 |- 10,670,000,000 |7|E Xt A 360,000,000
HAEE gh& 96,000,000
ozt | 200E 1,190,847,000 1,061,122,000 129,725,000 |3t 1,100,847,000
thstey 90,000,000
UolE[R7|gelE 276,146,000 |- 276,146,000
Qo|ExYENY|IZ0E 3,381,200,000 3,694,363,000 |- 313,163,000 |=s 2 Qe DHALY 270,000,000
LHLFERA| N QX g4 275,000,000
Q4/24 HB|ZA 450,000,000
o3 4xolg 23 223,700,000
SU-WINGs QHHs} 9 Qx| H4 120,000,000
EMESUYTI|A|AH L= 106,500,000
Hgz|=22d 100,000,000
THEHAtCHE| ALY CHS S AF 120,000,000
geZol Mz R 118,000,000
18, AEg 7| 1Y 600,000,000
N7 2e|Ag =3 100,000,000
AmHA ORAHEYW +F 100,000,000
HAQIZaL SX| B4 158,000,000
HAPALST|XY X2 500,000,000
EQsAL X9 100,000,000
ALY H7IA1E 7 40,000,000
4,000,000 2,000,000 2,000,000
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+4 (EH9l- 2
SEDHRA = 4,000,000 2,000,000 2,000,000
EX|OjZtoy 1,000,000 1,000,000
ASoizoy 1,000,000 1,000,000
7| A 7|7 OfZ+Ch 1,000,000 1,000,000 - |20198td s 22 2= ojzioy 1,000,000
Z17|H|= ofjztcy 1,000,000 1,000,000 - |2019¢8t 4 222 = ojzicy 1,000,000
Kp2h et of2hoh -
S A0 2oy B}
SR Ya = = =
EH7|Xt = - - -
CHOIXt S A B}
IHEMN AF 6,085,400,000 52,000,000 6,033,400,000
2IIxtL = 6,000,000,000 - 6,000,000,000
7K 2 A} 6,000,000,000 6,000,000,000
Z|Et 7 XY 85,400,000 52,000,000 33,400,000
ALz 2 85,400,000 52,000,000 33,400,000 |=x|A|4 82,900,000
MEtngT 2,500,000
Al 43,444,693,000 47,628,380,000 |- 4,183,687,000
OjAFEH|01E 560,662,000 605,725,000 |- 45,063,000
U4 44,005,355,000 48,234,105,000 |- 4,228,750,000
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(CHel: @l
= = =
5,957,385,000 5,930,558,000 26,827,000
3,747,725,000 3,410,636,000 337,089,000
D=0 139,945,000 |- 139,945,000
mE= PN e =1 20,600,000 |- 20,600,000
mYztE 4t 47,945,000 37,685,000 10,260,000 |m7totad g 17,000,000
TIE Program 19,200,000
THEhd Q= olAlE EX+g 6,345,000
st EMztZ 2O X2 5,400,000
nYYFECa 1,135,800,000 1,168,978,000 |- 33,178,000 |mAAtstola2eta 810,800,000
ImiE LRI ES= == 325,000,000
AtEelz - -
Edzolg 2,563,980,000 1,348,285,000 1,215,695,000 |2 HtEZ| 30,000,000
K-moveA = X| A+ 170,000,000
prlmis b s in s 4,800,000
drlEeloyst 45,600,000
HMNSY 192,720,000
M2 SHME 367,060,000
SH2O| T 1,750,000,000
7|Et 3,800,000
mAE|EZ 676,975,000
Z Q1 74| 18,168,000
= 2,209,660,000 2,519,922,000
el 147,160,000 286,822,000 QIZH| HAHM EE 147,160,000
gz 3,750,000
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&
40
o

o} 2 20193 A A = 20183|A|H = o
] 3 e 20| o e L -

SIS PIE PN ) 111,446,000 146,906,000 35,460,000 |=lQiztZack(Z0]) 81,716,000
Woloa 4ot 24,000,000
7|} 5,730,000
QM 850,000,000 867,270,000 17,270,000 |RIQAtsto g sieta 796,000,000
D Qe x| gpaa 54,000,000
QA IO 4 H| 618,280,000 795,040,000 176,760,000 |Ql74H] HAIA &= 618,280,000
[Pe] 82,774,000 89,850,000 7,076,000 |m=lAlg 25,000,000
N EgmE= PN 37,000,000
XS 2SME 20,774,000
SIS 400,000,000 330,284,000 69,716,000 |91 716 HAIM &= 400,000,000

2 4,938,530,000 6,233,851,000 1,295,321,000

Al 2t2[H| 1,305,450,000 1,134,262,000 171,188,000
H= S| H| 405,500,000 866,126,000 460,626,000 |-z 22 A 275,000,000
M=Ab e AXSAL 6,000,000
SAHA HE oY 53,000,000
M-S 2 LED XS A}F 40,000,000
J|Ef LX|B4 31,500,000
AFH|ZHE|H| 220,400,000 29,664,000 190,736,000 |mMAtQIZE} QX E 4 158,000,000
HYMSI|XIRY =2[H| 40,000,000
He2otdy g7l % 11,500,000
7|Et 10,900,000
AT Y| 5,000,000 5,000,000 lasusnesm amy 5,000,000

BhE || - -

AEE89H| 33,276,000 33,276,000
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il
Ho
e

5 20193 Al = 20185 A = =3 g
= 2 5 =0 4

7,950,000 496,000 |xHSA|A Hi A& QI E S 7,000,000
7|EtE 950,000
59,600,000 10,132,000 |o|3{QA|AE Sx|24 59,600,000
7|EtA|-2 2elH] 607,000,000 463,726,000 [24/24 22| A 450,000,000
HSESIME AlH2E| 57,000,000
OFRIA|H 2HZ 7] 100,000,000

1,448,316,000 615,501,000
115,155,000 17,910,000 |Q/=QIsta x| 23 ofH| 80,000,000
mEtAtCE ALY 2 F of ] 12,455,000
Hotae ofd| 20,000,000
7|EFOH| 2,700,000

XRXH| - -
22 EH| 707,086,000 1,252,562,000 |- 545,476,000 |EL| A2 AlC) 9 AMH|ZE 611,792,000
BYusd dojud A0 5,340,000
Hezztdy 25 3 #2&8F 15,904,000
detunsg b4 E 2,500,000
MetnsSa ANHELY 12,000,000
ooty 27 F 15,000,000
WA UM FHADE 9,000,000
deusgMgd FHLA0E 10,000,000
UL DSHEHSIAL Y ANH|F 3,000,000
J|Et ARE 22,550,000
Q4 &= | 55,600,000 85,227,000 |- 29,627,000 |Q|=2QI3t SX| R == QNS 19,000,000
HelEasx 47|32 AME 15,000,000
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(CHel: @l
=2 3| A1 3| A ¢
. = = - 2019;:1:1 1 20;::07:';5 =z Mz

AL DFSHE MSIALITH TR 7H et 10,500,000
7|E} QM2 11,100,000
HE| 465,000,000 527,377,000 |- 62,377,000 [CHEtZA|7tAQ 2 215,000,000
Metmz A|I7tAQ S 250,000,000

I =R - -
EAMH| 47,475,000 9,433,000 38,042,000 [CHRIB 2K 7| Xt MAl, A2 Gl 22| 4,100,000
dgusp 2H L S4H| 42,450,000
7|E} 925,000
ZE 2202 3,800,000 828,000 2,972,000 |MEA| HHAEFR ALY S o|3|H| 3,000,000
FA R 800,000
INE=EEN 54,200,000 55,325,000 |- 1,125,000 [7tEoiz442 27,200,000
wMI|F AF$4E 9,000,000
ey ImE=X- TN = PPN ) 15,000,000
Blusd BN R 3,000,000

=X} 2,184,764,000 3,035,772,000 |- 851,008,000
E2o|S My 130,750,000 169,740,000 |- 38,990,000 |m Al Al Az @ H| 100,000,000
OFZ Al 20,000,000
7|Et 10,750,000
nes Y| 10,000,000 21,303,000 |- 11,303,000 |ma=8 Zo| 9= x| 2 10,000,000
ST TX=Ne: 2] 762,170,000 1,581,344,000 |- 819,174,000 | SE3HME wstEZ k2 s 3,000,000
ﬂi%im H =20 9% 4,320,000
THetZ 47| AAE HEURZ| ALY 281,500,000
SU-WINGs OPX3} 9 Qx| 54 120,000,000
ER e ER B 100,000,000
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(CHel:3)
=2 20193 Al = 20183|H| A o
B 3 El Eojat =04t -
A OFAE S22 100,000,000
et MY oM E 50,000,000
E90 7157 W [ 36,000,000
ZAPHAS QX ES 9,000,000
A2 o|®|E x| 10,000,000
HMT 22 SH0|X| SX|ES 4,800,000
S Eorzto oty 2% 28,450,000
7Et Y 15,100,000
HEZFEXIH| 53,560,000 44,222,000 9,338,000 |CHelEq 2HM7|32Y 30,300,000
2tz H2ty)| 15,000,000
7|Et 8,260,000
S HH| 183,540,000 95,238,000 88,302,000 |=2@E 20 154,440,000
HMDSY s 3,400,000
HeRsME B 9,000,000
7|81 O R(1EE) 6,500,000
J|RA HEME 9,200,000
J|EtZ 8 1,000,000
3|o|H| 13,500,000 39,882,000 26,382,000 |zZ 239 13,500,000
SHARH| 1,014,900,000 863,968,000 150,932,000 |XtQst7|H =223 7,000,000
=L|o| MVPAZ 12,600,000
ooy BIgo AT 430,400,000
32 Clp [ imE= 39,450,000
TIE Program 6,200,000
IFL Aot sh2 E3HA|O|L} 10,000,000
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i} =2 20193 A A = 20185 A = =z A=
= 2 5 =0 4 A0
Qg ns Ao St e 20,000,000
He2stiH HAHZs=Liz 4,350,000
M2 gof 2a= 8,000,000
iR Lu kol 8,000,000
HM2O|aA7| g 30,000,000
HZ IS ELTAY HAL 8,000,000
HSHTASHALY X2 60,000,000
JNm7|E SHAF 100,000,000
st EMStZZ AW X2 30,000,000
LHI|Z 23 YA 52,100,000
ZH DS Q2 QIS BHAL 179,000,000
7|Ef SAL 9,800,000
16,344,000 220,075,000 203,731,000 |BM Sl ZtHHH 8,300,000
XEo183 XE 2,000,000
7|E} 6,044,000
O 7L ShAH 74 22,122,723,000 19,100,425,000 3,022,298,000
o LH| 171,000,000 316,590,000 145,590,000
169,000,000 242,590,000 73,590,000 |X|&7|82 X|= 9,000,000
CHSHE M3 DL Z 2 atR| 160,000,000
2,000,000 74,000,000 72,000,000 |X|&7|52 X|= 2,000,000
Shll ZH| 20,835,003,000 17,678,815,000 3,156,188,000
16,460,966,000 13,758,585,000 2,702,381,000 |=7t&tet2 981 12,000,000,000
IotEsta 9 2 1,700,000,000
2B ol2 30,000,000
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(EH3)
_ 1} _ = _ 2015::1:11:55 zoifilo:lsg =3 A=
— o il = = T © —

QUAZIS LSS 1,250,000

Alstostel 1,600,000

SHAX| 2| 2,935,240,000 2,675,193,000 260,047,000 |m2tALCIE|ALY 2 415,545,000

K-moveA 2 X| AR 236,200,000

ool 29 990,000,000

HADSME 29 106,000,000

CHSHUXt2| K| L ME ALY 256,240,000

et HssAHH D) AFY 61,420,000

2|2 ALY 16,560,000

M TS T SHAEX| 2 ZHH| 237,375,000

NE-FIC = 20,000,000

AT S TAICH AT 2 H| 450,000,000

HoEAsYEEs 24 10,000,000

AYug5Es 24 10,000,000

ICTE XM SY 2 10,000,000

OIEYULIAZHE 29 10,000,000

HYaetEdst x| 2,000,000

DYt X[ ALY 11,000,000

SEMmRIY 29 60,000,000

7|} SHMX| 32,900,000

oIA| || 1,116,720,000 1,105,020,000 11,700,000

PN 455,312,000 477,812,000 |- 22,500,000 |st& 443,700,000

=] 11,612,000

QA AH| 661,408,000 627,208,000 34,200,000 |&ts 653,600,000
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XE (H9:¢
at = 20193| A HE 20183 A HE =3 Sga
2 & = =0i Ak FZ 0
thstey 7,808,000
WEQH|E 157,342,000 175,855,000 18,513,000
X| 20| X} 154,352,000 149,902,000 4,450,000
X| 20| X} 154,352,000 149,902,000 4,450,000 |ArStRISRYCH SXF2 K| 20| R} 154,352,000
7|Etn S Q/H| & 2,990,000 25,953,000 22,963,000
SN 2,990,000 25,953,000 22,963,000 |2= zg 2,990,000
M=z - - -
=g - - -
S ANES -
W=z -
HSEZ2ANES -
Arste e Crlsta | M E S - - -
Aot ES -
sur|grsEd -
Oof|H] 330,000,000 36,322,000 293,678,000
ofjH|H| X|= 330,000,000 36,322,000 293,678,000
ofH|H| X|& 330,000,000 36,322,000 293,678,000 |ojuH] 330,000,000
SXt7|EFRHt X|E 2,598,164,000 2,335,812,000 262,352,000
NN NN - - -
iR NN e -
7|EFXHALR| = - - -
AXEZS SR E -
UBEEI|IZHE - - -
daREALI|IZHY - -
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(EH9l:2)
=2 20193 Al = 20185 A = =z sz
= 2 5 =0 4 A0
dAFEEARIISHE - -
HAFEEFESIIFHE - -
HBEESESNI|IaXE - -
= 2,598,164,000 2,335,812,000 262,352,000
Qojdy |2 E 6,300,000 9,700,000 |- 3,400,000 |O|Xt4=2 6,300,000
QlojAxy |28 451,000,000 1,123,800,000 |- 672,800,000 |o|xt4=¢ 191,000,000
%= 260,000,000
Qlo|xtsty| 25 g 980,164,000 501,050,000 479,114,000 |o|xt£=¢ 107,000,000
7183 873,164,000
Qlo|g|xl7| 25 8,700,000 13,300,000 |- 4,600,000 |o|xt4=9 8,700,000
Qo|EXNEXI|ZHE 1,152,000,000 687,962,000 464,038,000 |O|xt=¢ 212,000,000
7|8= 940,000,000
7,812,900,000 13,775,220,000 |- 5,962,320,000
NNES 7,812,900,000 13,775,220,000 |- 5,962,320,000
EX|Of iH| -
AS 04| B}
TEE0 | -
7|27+ o H| 1,115,800,000 1,870,903,000 |- 755,103,000 A& A&7| XY 500,000,000
Moo s Ye uK 270,000,000
ENSYRB| A AL R 106,500,000
HOHE L SATHA|AE 25 65,000,000
W YX[S HIC|R & HX|ZA 50,000,000
HAES A|AHEIYLIET| HX|Z A 41,000,000
7|E} 7| A 7| 83,300,000
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(CHel@
o} 2 20193 A A = 20185 A = =z sz
= 2 = =0 4 A0
Z|7|H|Z o Uy 130,000,000 594,862,000 |- 464,862,000 |2 212t/ ® = 118,000,000
XHQIMIE] & 7| 12,000,000
K2k utL Of Q| 76,100,000 30,184,000 45916,000 Xtz 20 2 76,100,000
CATYH| 35,000,000 35,000,000 - |[AZatEAS EM 1Y 35,000,000
SEEFE T - -
HAMIAN 6,456,000,000 11,244,271,000 |- 4,788,271,000 |2 LAt A= B A} 6,000,000,000
TSR A AE BAF 360,000,000
HEEE % A 96,000,000
CHO| Xt 34t = = >
| XS4 )
85,400,000 85,400,000 -
BIIxLE et = = =
KA F et -
Kk st -
J|EF DB Al 85,400,000 85,400,000 -
AES= o= 85,400,000 85,400,000 - |=2xIA M Ay 80,000,000
Mot g=2 2,900,000
SN ESE 2,500,000
sHA| 44,002,444,000 47,673,443,000 |- 3,670,999,000
OjAEALZ| 0] & 2,911,000 560,662,000 |- 557,751,000
N | 44,005,355,000 48,234,105,000 |- 4,228,750,000
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